ADEC USE ONLY

Alaska Department of Environmental Conservation Receiving Date: m
Air Quality Control Minor Permit Application ADEC Control #: H,'Lg-

EMISSIONS SUMMARY FORM
NEW STATIONARY SOURCE

Section 1  Stationary Source Information

Stationary Stationary Source
Source Name: Physical Address:

City:

Section 2 Potential to Emit — CO, NOy, PM-10, SOy, lead

Potential to Emit (TPY)

Emission Unit No. . CO NOx PM-2.5 PM-10 SO, lead
Capacity 1y within 10 km of

nonattainment area)

TOTAL TONS PER YEAR:

] Detailed emissions calculations are attached. Note: For calculations other than (rated capacity) times (emission factor), these must be attached in order for your application to
be complete. You may give an example calculation where the method of calculation is identical for multiple emission units..

Include multiple copies of this page if more space is required.
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